KRAUSMANN

TOOLS

P OWEHR

FQNIAKOZz TPOXOZ 125mm 710W

ANGLE GRINDER 125mm 710W

2
o

WN=-20WVWONOU~AWN=O0OOONOUHAWN-=

N NDNDNN
00 d Oy DM

NEPIFPA®H
Round nut
Grinder disc
Clamping flange
Nut

Grinder wheel
Screw M5x22
Screw M4x14
Spring washer
Washer
Spindle shaft
Gear box cover
Bearing 6001
Bearing cover
Screw M4x12
Woodruff key
Gear

Washer

Side handle
Washer 10
Needle bearing
Washer

Screw ST3.9x18
Self-lock pin
Sefl-lock spring
Gear box
Washer 8
Pinion

Bearing 629

=)
e}
e

B e . S T e e e T T T Y N W I W WL W W S S T T Y

No.

29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56

NEPIFPA®H
Bearing cover
Washer 5

Screw M5x12
Armature

Bearing 607
Bearing cover 607
Wind ring

Screw ST3.9%16
Stator

Switch button
Housing

Screw ST3.9%16
Wire clamp

Label

Screw ST2.9%10
Cable shiled

Back housing

Hard grip for housing
Cable and plug
Washer 4

Label

Carbon brush
Carbon brush holder
Switch push holder
Capitor

Switch

Wrench

Screw ST3.9%16

8440

=
o
7

B T T T e e e e e T T T I . e e e T T Y N Y



